RN 2 R = IRGR P KK RS 1/3
WIH : 20208E7H25 0 (1) ~7H26H (H) S ZHAZBMG AR—Y Ok $5FE AT (50m)
No.1 &+ 50m EH & SR 26.37
BfL. K 4 i B 2E KE =
JTIERE s R ) =EH AR —i 18/ 4 26. 55 1058
2 Bk HE JSSHA¥F 3 16/ 4 27. 21 10:%
3 ik Bt HTHhASS K1 17/ 4 27.92 8#k
4 R BAn A h~2%k W3 17/ 5 28. 29 9%
5 Hf & fEEE SCHZ =3 16/ 5 28. 54 8ifk
6 ZAEH ¥ S = =2 16/ 6 28.72 8#k
7 mH 7 JSSHA¥F =2 18/ 6 28. 86 8%
8 Pk EE Hhy7FSC 2 18/ 3 28.98 SHk
9 ¥ SEmE J S SKABK =2 18/ 7 29. 06 SH%
10 fp= Y5 IWWHTH S C =l 18/ 8 29.07 Sk
11 Kfi] HiE =4 T3 =2 17/ 3 29.19 TH%
12 EEEHHOZ A b~%k  H2 17/ 2 29.24 9%
13 K5F A% A4 b~2%E W1 15/ 4 29.39 oK
14 Hlr 2Ty ALY A 1 15/ 6 29.50 S
15 Ry 57-1F HE7HesSS  #2 16/ 8 29. 69 Sk
15 PR JHAE HI7AHSS 2 17/ 1 29. 69 Sk
17 BORBI &~ & EHEREER &L 15/ 1 29.70 Tk
18 iy EE ~NZ/NS S 1 16/ 1 29.74 Ok
19 g HX WAMSC =2 17/ 6 29.77 7%
20 #71l B BEHSEEKR &1L 16/ 3 29. 81 Tk
21 Pl BiZS A b~k 13 16/ 2 29.84 8tk
22 fEH LN A4 b~ F2 0 14/ 1 29. 88 8#%
23 Julr HEn J S Sk 3 18/ 1 29.92 %
24 T8k  HAn HEHZEER &2 18/ 2 29.93 Tk
25 PR ZE % /S S H12 15/ 3 29.97 %
26 1rkf i3 J SSH¥ 3 13/ 7 30.03 %
27 JHAK D A4 w48k /6 15/ 2 30.13 9k
28 Rl A& HKhkySC 1 17/ 8 30. 21 8k
29 KiL JhA& IWHHS C /N6 15/ 8 30. 30 Sk
30 BH FHH J S Sk /N6 16/ 7 30. 34 9%
31 R EFE U H Hird & =3 14/ 2 30. 36 6%
32 FKH  BeE 7Y% e TH 2 13/ 5 30.38 8k
33 HIE  EmL WS =3 14/ 4 30. 45 6%
34 FH Hhy7SC 1 15/ 7 30.53 8%
35 =H R H7YeSS &3 14/ 7 30.58 6#%
36 /NI Y WHTHS C 3 14/ 5 30. 60 6%
37 HMEAL LA ~N2Z8S'S /N5 14/ 8 30. 66 9%
38 Hl EHE ZHOKUKIT77T L 14/ 6 30.75 SH
39 A SRl JSSH¥F 1 11/ 6 30. 80 8k
40 B fEHE =X oKkkI77° H2 12/ 5 30. 82 Tk
41 G OB SPRE7ZFE D F3 12/ 1 30. 88 Tk
42 WH EHZ A4 h~r4kE 2 12/ 2 30. 94 TH%
43 A ER ~N2zZ88 S 3 12/ 4 30. 98 6:5%
44 f4 B H#E S S 2 14/ 3 30.99 TH%
45 B HH HW7HEeSS /5 13/ 8 31.17 10k
46 AR K5 MBS#/n" =7 13 15/ 5 31.19 6%
47 KRR H T THeTH /N6 13/ 6 31. 21 8k
48 {FiE E IWAMS C H12 10/ 2 31.25 T#%
49 VIR EY WEMHSC 2 13/ 4 31.35 Tk
50 KA [)fde ~N 2RSS H1 9/ 6 31.59 THk
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WIH : 20208E7H25 0 (1) ~7H26H (H) S ZHAZBMG AR—Y Ok $5FE AT (50m)
No.1 &+ 50m EH & SR 26.37
BfL. K 4 i B 2E KE =
51 [Lilr 2y HHFEER &2 10/ 8 31.67 5#%
52 fFik  ThE SPEE7=% v N6 13/ 2 31. 69 8#k
53 U’ 1HA A h~r&E 6 12/ 7 31. 71 8k
53 AUy AR A B WHMHS C Pl 13/ 3 31. 71 6%
55 mi)ll  A&3E WAFS C /N6 11/ 8 31.76 SH%
56 [ FHAK & HRhkyFSC /6 11/ 4 31.77 T
57 /NNE RS HH 1F 2 10/ 3 31.83 6%
58 #EJR  MLREE VYAV NI 1 12/ 8 31.85 TR
59 PEIHD ) b -bA B Em1 13/ 1 31.89 5k
60 Fi FE A4 h~48E /6 12/ 3 31.94 Tk
61 K A WHMSC /NG 3/ 3 31.99 8k
62 A EBRE k7S C F1 o 11/ 5 32. 01 6%
63 fEA  ZER RS S 2 9/ 8 32. 04 5%k
64 WL A Z4KKk97° 2 11/ 1 32.20 6%
65 ik X VA 2 10/ 1 32.25 5%k
66 HlE HFR Ly 7SC 1 12/ 6 32.26 Tk
67 /NE EESE 7Y% e TH Ml 9/ 4 32.28 %
68 A i A h~48E /6 11/ 3 32.30 Tk
69 ZEH KB J S Sk /N5 10/ 4 32.45 Stk
70 )1l AL T S SKABK H12 7/ 7 32.47 6%
1 AF DE WHHSC N 5/ 4 32.48 9%,
72 WP B MBS#/n" =) =110/ 7 32.52 45%
73 ey B A WAV N 13 8/ 3 32.55 4%
74 1% HAFn WAMSC mlo11/ 7 32.56 44
75 YRl ERAE 7Y% e TH 1 5/ 7 32. 61 6%
76 KR AR SPEGTZF 0 NG 8/ 6 32.63 Tk
77 {FHEVDERAE HRhy7SC /5 9/ 1 32. 68 9k
78 HifE HHZE BHE H13 9/ 7 32.72 51k
79 WA HIE HLy7SC /)b 1/ 2 32.75 9k
80 —HmAIfEZR bbbz )l Eml 10/ 6 32.79 45,
81 N il S S NG 8/ 2 32. 81 TH%
82 WrH  ZEn{E N 2RSS NG 7/ 5 32.84 %
83 Wi AL IWAMS C 12 6/ 6 32.89 5%
84 AR ZEE kv 7S C 13 8/ 4 32.90 5%
85 Bk HEFn YA NI 1 9/ 5 32.92 6%
86 FfE LA ALY H N6 4/ 6 32.95 T
87 Ky IR JSSA¥ NG 9/ 2 33. 01 6%
88 H i MhHE F T NG 7/ 2 33.14 T
89 Lk ZKkH -2 /s 10/ 6 33.20 8H%
90 FfEE  Hnyd AU H ! 7/ 1 33.23 9
91 Hitly A2 KALS C /NG 7/ 6 33.39 Tk
92 PERTIZZ H7HESS /N5 6/ 5 33.52 Sk
93 JIFFIfEA SCHx% Ml 5/ 1 33.56 6#%
94 ARH FjF bz )l 2 11/ 2 33.59 4%
95 FA EE A " %0E N5 8/ 8 33. 64 8k
96 LA B3 AL A4 NS 6/ 7 33.65 TH%
97 E¥  JRAC TV T 1 6/ 4 33.66 6k
98 A AEAC AU H NG 7/ 3 33. 69 65%
99 Eifg ML 1 HT7ASS b 5/ 2 33. 71 Sk
100 ik %% IWHH S C 1 9/ 3 33.74 6%
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HIH : 202087 H25H (+)~7H26H (H) S ZHAZBG AR—Y Ot $AFE KTk (50m)
No.1 &+ 50m EH & SR 26.37
B & £ Fr & BE KK B R
101 FAH EW ~NZ/NS S 1 5/ 6 33.78 6%
102 #K = Rixx SCHz /NB 4/ 4 33.82 8k
103 A H  #E WWHTS C N6 4/ 2 33.83 6%
104 BEREAE J S S N2/ T 33.85 8k
105 42 et TV T NG 6/ 1 33.94 6%
106 HH E= HEhky7SC /M4 7/ 8 33.94 8%
107 AR B HEHZA 3 6/ 8 33.97 3%
108 [ FEK SPHE7ZE 0 e 2/ 2 34.03 6%
109 3R AHE k7S C 3 6/ 2 34.06 3%
110 mi)ll & A v 4E 3 3/ 8 34.10 Ok
111 ZfE KH AU H T /NG 8/ 7 34. 11 8k
112 KiE 28 R =2 2/ 5 34.14 3%
113 BREF 53 A b~ 43 N5 3/ 7 34.18 SH%
114 &% P MBS#/n" =7 12 4/ 5 34. 21 4%
115 FKH HE 7Y b TH /N5 1/ 6 34.27 6%
116 ‘= H HHE H7H eSS /)b 3/ 1 34.38 6%
117 57l I2H] RZ/RS'S NG 4/ 3 34. 41 6%
118 Ml 23 AER DU H T AN 2/ 6 34. 46 Stk
118 KFE Gl FV T 12 5/ 3 34. 46 3%
120 Sk ZA5E SCHZR /N5 1/ 4 34.52 6%
121 )l &+ k7S C NG 4/ 1 34.57 65%
122 Bl KAeS C N6 4/ T 34.58 67%
123 =%  WH] AU A T /N4 5/ 5 34. 74 8%
124 FH)Il By A4 h~r4k /b 2/ 3 34.75 TR
125 FEF  PEA] ZAOKKIT7T N5 4/ 8 34.80 Tk
126 FEFHMEIRTY A4 b~ %8E /NS 3/ 4 34.83 %
127 IAAREHE: k7S C /N5 1/ 5 35.23 Tk
127 MG ) I SSHY¥ /N 3/ 5 35.23 8k
129 — R HRK JSSHT /N3 2/ 4 35.28 8k
130 YEWN  FiSL 2% /S S NG 1/ 3 35. 97 5%
131 /T #E ~N2ZXS S 12 3/ 6 36. 03 3%
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